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Mr. Schlansky “~__/ Algebra II

Determining Whether a Binomial is a Factor

Determine whether the following are factors
1.Is x-6 afactor of p(x)=x’—6x" +4x~-1? Explain your answer.
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2.1s x+2 afactor of p(x)=x" -3x” —8x+4? Explain your answer.
PR = ()35 W s the lemand" s &
D= O
2\4}{20 3.1s 2x+1 a factor of p(x) = 2x” + 5x+2? Explain your answer.
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4. Determine if x— 5 is a factor of 2x* - 4x* - 7x~ 10. Explain your answer.
A3)= S s=75) 1o N, Ve femade > notO
sl= log”
5. Determine if x + 4 is a factor of p(x) = x* —6x’ —4x* + 54x - 45. Explain your answer.
PI)= () bl Ha sy 4 s~ No, Fhe (emande o
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6. Determine if x +3is a factor of p(x) = x* +7x’ +9x* - 21x - 36. Explain your answer.
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7. Use an appropriate procedure to show that x—4 is a factor of the function
Ax) = 2x° - 5x° - 11x—4. Explain your answer.
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/ 8. Which binomial is a factor of z* - 4x% - 4x + 82 - 1%y
W= 1%

Y x-2 Py =0 3y w=t P X
2) X+ 2 r”({).}:lb 4) x+4 p(*%): D’(d
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9. Which binomial is not a factor of the expression x° ~ 112:2 +16x+ 847
D x+2 PEA=O 3) x-6 0l)=0
S 27re4 =Y Y =7 p)=0
0. Which binomial is ot a factor of the expression x° — 6x2 -49x-667?
1) x-11 pUll=0 3 x+6 pl)=-3pYy
2) x+2 {‘(j;) =0 4) x+3 p3) = @)
11. Which binomial is a factor of the expression ¥ —Tx—567
1) x+3 A-D ==l 3) x=2 plA= -
7/36—1 plhy= -2 A x+2 plN=0
12. Which binomial is ror a factor of the expression x° - 4x* —25x + 282
W x+6 pl-bl=-18 3) x-1 PN=0O
2) x-17 P(—,): 0 4) x+4 Pl“'n‘:o
é Which binomial is a factor of the expression x* +4x? =329
) x+8 pl=¥= 4320 3) x-1 pU=~377
2/ x-8 A§=430 H7x+2 p)=2 O
14. Which binomia] is not a factor of p(x) = 2x* + 7x* - 5x - 47?
1) x+d pPEN=O 3y x-1 PNz O
x+l pi)aly 4) 2x+1 p(-35)=0

4 Given #(x) = x° - 4x* + 4x - 6, find the value of #(2). What does your answer tell you about

x— 2 as a factor of #{(x}? Explain. A \ > ) ;
: s i [ X=d > net a Sfacke Datore
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6. When g(x) is divided by x+4, the remainder is 0. Given g(x) = x* + 3x° - 6z° - 6x+ 8, which
conclusion about g{x) is true?  wid 3y a .JQ,d‘r- '

1) g@)=0 -4 is a 20
f
2y g-4)=10 v
3) x-4is a factor of g(x).
4) No conclusion can be made regarding g(x).




